EXERCICE1:

Simplifiez les fonctions suivantes :

F,=a.(a+b)

F, =(a+b).(a+b)
Fy=ab+c+c(a+b)

Fy =(x3;+:)(x+{;);
Fs=(x+y)z+x(y+2)+y

g =(a+b+c)(a+b+c)+ab+bc
F7=a+abf+;bc+&b+ad+a3

Fg=a+ ab+abc+abed+abed.e

Fo =(a+b).(a+b.c)+ ab+a.c

SOLUTION EXERCICE 1:

F,=a.(a+b)
F,=a.a+a.b
F,=a+a.b
F,=a.(1+b)
Fo=a.l
F,=a



F,=(a+b).(a+b)
F,=aa+ab+ab+b.b
F,=0+ab+ab+b

F,=b.(l+a+a)
F,=b

F;=ab+2+c15+5)
F,=ab+c+a+h
F;=a+z+5+5
F,=1



Iy =(x.37+:).(x+;).z

F, =(x,;+:).(x.z +;*.z)

F,=xyxz+zxz+2.y.y.2+ y.2.2
F,=xyz+xz+xyz+yz

F,=xz+yz(l+x)

S=(x+y)z+x(y+z)+y
=Xzt yIz+xy+xz+y
S=(X+y+x)z+y.(l+x)

=z+y

F,=(a+b+c)(a+b+c)+ab+bc

F,=aa+ab+ac+ab+bb+bc+ac+bc+cc+ab+bc
F.=ab+ac+ab+b+bc+ac+bec+c+ab+bc
I

=(a+a+1l+c+c+a+c)b+(a+1+a).c

=bh+c



F}=a+abc+5bc+5b+ad+a3
F =a(l+bc+d+d)+a.(bc+b)
F,=a+a.(b.(c+1))

F}=a+ab

F,=a+b

F,=a+ab+abc+abcd+abcde
}§=a+5@+5k+5@+3em
F,=a+b+c+d+e

F,=(a+b).(a+bc)+ab+ac
F,=aa+abc+ab+bbc+ab+ac
F;=a+abc+ab+bc+55+52
F;=a11+bc+b)+bc+55+52
F;=a+bc+55+55
F,=a+bc+b+c

F;=a+c+5+g

k.=



